01. FRAP ABRETT CFawe?
1 — — — S, —_ —
(a) "2*|AHBI (b) AxB (c) %(ﬂxB) (d) ‘A}:B‘
B/ R
TaE: (d) ; @ Q4 O e S, A crawe =|Ex]§| / /
P —/Q
02. =& AT (Couple) I I8 T YU JeTad— §
(a) I (b) FAIEAL (c) Feareqd (d) “=al
Tar: (d) 3 T I LT SIS I T, FAA@aeT @3 Rerfegq 27
03. 60 G GH0 ST (O foqeT 91 Tl = oavy 0T @Y F972
(a) 60 (b) 18 (c) 20 (d) 54Q
g (d); S =L, , ARRSre Wmh=1L,
Wi ergree ovame = A, |, AfRaSie eErEma cRawE = A,
a¥¥, L, =3L,
W: Vl :VE = AILI =A1L2 :'AILI :AESLI :,'}Az =%
pL L 7
99, R, =zli .......... (i); R, = i; .......... (i) 5 (ii)=(i)
R, _LA R, _3LA _p _gx3x3 =540
R, AL 6 A
3 |
Shortcut: BT n e &9 Fawa1 @4 =n’R
04 s warE ofve (FEd el 3x10™ V/mzrE @Efts Saeid (51RT (Fiad o] T (A7
(a) 9x10°T (b) 1x107°T (c) 9x10"°T (d) 1x1074T
-4
sy (b) ; c:% = 3x10° =3x]130 —=B=1x10""T
05. Srorarre T fiFe @l TR (@6 (COIT 99— [Ans: a]
(a) & AT (b) G5 *f& Irerq (c) o *fF T3 (d) (T SR FAR
06. 200N Ske STRF 87 Bo7 55 44 faFat IT | T SR ARTST T 737
(a) 40 kgs (b) 40Ns™ (c) 25Nkg™ (d) 10°kgms™
STr: (d) ; 389 SRR AfFTSN = e O = T = 200%5 = 1000ke ms™ = 10° kg ms™
07. Rfegrie Aeg-ag TP
1 YA1? 1 YAl 1 YAL? 1Yl
_1 | e T W =— L]
(2) W=o— (b) W=2— (© W=-— (d) W=-—
1 Ya/?
T (2); e ko g TaiesT W = T
08.* T& 7 G (o @b 3 FaCe AlE? [Ans: b}
(a) T i (b) TR (c) fRam (d) s

e

e, 3 SRR |



09. 3 T 25 conrd RfFE qald Jore df erats 2 A SIS o0 | T $ad ms™ @ To7

(a) n’ (b) 8’ (c) 4n? (d) 21’
T: (€): 9 = o’ = (2nf)'r = (2% 2) x.25 = 4x?
10. EXPIFUTS STHHARM SHeiad IR0 [Ans: c]
(a) SEOIRTST (b) T e
(c) vaIfTe Tt wprifgfon o (d) TP TEST Afes Zeara &y
11. UG CFT@ S & AT STrast—
(a) & =i (b) I =i (C) EFT CoITHT AT (d) srifiefée A

F: (a) ; WOR S 1) 0c /T welfe Sieiatat et Araet IS |
12.* 57 (/7 @ [foae @ o) owF (A9 14pum 2 SiEial $7?

(a) 3122K (b) 210.1K (c) 307.2K (d) 207.1K
e (d) ; T = —2 = 2'9""3'_: =207.1k
A 14x10

13. (SO&Y FF FIETT GFF (7 [Ans: b]
(a) ms™ (b) s~ (©)s~ (d) m™

14. S°ME G0 GIIES MEEE MEHS P07 [Ans: c]
(a)* 7 (b) 25 (c) == (d) I @ B FSaeieT

15. Ed o1 Clienieels <rei— [Ans: b]
(a) TGTEE I (b) LI (c) =i I TS (d) I el

16. <=0 TEHTS 120m B9 2o i s #ifes =1 1 Boira ¢ Fwe i e S e <97
(a) 0.28°C (b) 0.26°C (c) 0.24°C (d) 0.21°C

S: (a) ;mgh =msA® => gh =sA8 = 9.8x120=4200(A0) = A0 =0.28C
17. o= Sl (AT 10 G SIFol T4 (1 <1 OFS! TIT—
(a) 10 G (b) 1 &= (c) % & (d) 100 G

101
qmy: (b) ; B=1og, : 0

=] @&

0
18. fHfeeT cliteia caea fAf¥m =if& %@ (Forbidden energy) @ WIF 972

(a) 1.1eV (b) leV (c) 0.7eV (d) 0.3eV
Tar: (a) ; e g ffis =& g =1.1ev, wtiFaTe av e 2fE $$=0.7 ev
19. %% 2F0A 4ib Sl Sl udia Wi 1:2 | G2 0 SIS 90T O giod Righea wrpire vor

(a) 1:1 (b) 1:2 (c) 2:1 (d) 1:4
FAtgr: (a) ; GFE FCHA G0 S OIEA &0 Y8 AGFR TR .Y, =Y, ;A =A,
EL FE, L
qae e, F=F;Y,=—"1—..... i); Y, =—""2%...(i
qeACS, by =ry5 Y, AL (1) 2 A, L, (11)

N (e L, ¢ £, £
i)+ ) ¢, L L, L, i

[2r 20o @R T @ F, A OfSs) 30T Ae widy 23, o0 Y ¥ 7w we Rpfe wiey 2=

N | - |




BUTEX &r5anes %

20.* T6% A qren Aiffee Z08 | QTS ﬂﬁaﬁtﬂﬁw—w WW——

(a) TT (b) 1 (c) =T (d) 193 %x
ARYE: (c) ; TOS AINTS IO O T Fal WIF 7 (@ I ARSI Tt ST Stotar «Affae = w1 v
WITATFE S IS A |
21. Oow e FweT g 3m e aiRlt @ [T I M e Sqe T 2092
(a) 0.62m (b) 0.74m (c) 0.83m (d) 0.92m
ANYE: (b)) ; u=3m <@
v=7 p=133 [ I,h,
u 3 y d:}
u=— =133== =v=22556
AY V

SEMEE A =u—v =3-2.2556 =0.74m
22. 1 SIENE I ZE-
(a) 9.4x10”km (b) 9.4x10"%m (c) 9.4x10%km (d) 9.4x10"%m
A (C) ; WA 9T I @ GHD SO FF O EFAA |
C. SEead = 3x10° x365x86400 =9.4608%10" m =9.4x10" km
23. T QR IF @OF AT F97?

(a) 11.2Kms ™' (b) 14.5Kms™’ (c) 5.1Kms™ (d) 3.2Kms™
ANYE: (c) ; 9% FAG NS Data (2 | WS I =5.1km /s
24. S StHFEr T ZH— [Ans: c]
(a) ifbanErar ARGE (b) =i AGHRGE (c) A (d) =B ATHRTE
25. <IYCS G AR SINSAT P | AFTe QI 99 «iNeTia 03—
(2) P99 IS (b) P 99 (&6 (c) P (d) EHI T

1 1 1 .
arrer: (b); S W, P, ==, 1, 41){? 4 —J.......(l)

a I

a® P, =fi-( He —1)(-"*"—} (11)

W l 2

u,=15: ,p =1.125 ; (i)« (ii) T P, =4P,

w

26. T@ord G4y 3.8day | GF NG Y FO?
(a) 18 day (b) 6.93 day (c) 3.8 day (d) 5.48 day

et (d) ; T, =$ WT_l T, =0.693t =3.8=0.693t =1=548day

27. AT AFOBIET *e Tl
2
(a) X=E} (b) x=(2n+1)% (D) 3{:25(%) (d) 1=3{_

S (C); oTIETF TSI T, X=2H[%] ;@GS NSO &, }:=(211+1)%

28. (S GITAIG & «qwa QIS e F? [Ans: b]
(a) T QN (b) e @it
(c) T4 @ Reifie T @ice (d) STrarE

Lo g




BUTEX SRI0IeE i

29. I WEISTAET Sl NEHR Teg *fe— [Ans: c]
(a) = = (b) KT A (c) ¥R (d) "[©

30. 96 HRMAT TAIACE IS TAdT 2o | 9 TP —
(a) TR (b) AT (c) RS T (d) RGBT

31.

32.

33.

34 *

35.

36.

37.

38.

39.

40,

el

styis: (b) ; BIToTeT =i e o0 Aa @S B T i1 (@0 T |

SFCAI G fri3e wEe @i 9 giEd I

(a) 3R (b) CoAET = (c) == (d) =M
sratytey: (d) ; T e fride sway 7w I Kiad 3 |

1T AR (I P O TaF?

(a) 1A (b) I1A (c) VA (d) VIIA

Ttyie: (d) ; Group VIIA
NaCl =0T Sl FEET WS 0.53 230 Na* @ ARFE TG0 392

(a) 2 (b) 4 (c) 6 (d) 8
Tt: () ; e 0.4142z0s .72 @ 3oy e Aot Ryt 6 = |
i @ Tre 1S qaea o=@ ey

(a) =5 fi (b) =i sl (c) SR ey (d) B 7E
St () ; Nf-cFE i s

ZIZOGICS A O (@I U T q@i0 ReaaE e 20—

(a) 13.6eV (b) -13.6eV (c) 1.3eV (d) —-1.36eV

STt (b) ; H A9 &5 57 W@ TR ¢ @7 *iE =—13.6eV
SRR @RS Tt elfEgiE s i S ey =
(a) 9°51F (b) SUETTSIZE (c) 2"=ize (d) afe wrRgiRe
O O
wt: (C) 3 CH]—(|_|7—C1+R—NHE —->CH3—(UJ—I~|JH+HCI
R
2° SFIRe
@I ARG STRE @RS FEeacd JI7e A? [Ans: b]
(a) @frms = ®= (b)) TG = (c) gem foEe 4drw  (d) @@F A
0.001M NaOH G3ti& pH +o7?
(a)3 (b)11 (c)7 (d)12
sagi: (b) ; [OH™]=[NaOH][--NaOH OF T2 FES
~0.00lm ..pOH=-log[OH ] =-10g[0.00]] =3 ..pH =14-pOH =14-3=11
6T T A CATIAES et @12
(a) Na* (b) Cs* (c) Li* (d) Rb”
Frgr: (c) ; Li* 1R S T8 F0T q3R 58 TS NG SHER AR Fel e A0e |
273K S[ter 8 760 mmbit?y 2240ml CO, IS SF 61—
(a) 448 (b) 444 (c) 884 (d) 8.84M

G SRR oo

I -



BUTEX ZRaIed S §
J v .

TqiYi: (b); P=1atm
V=2240mL CO, =2.24L CO,
T=273K, R=0.0821L atm/mole k

M =44 gm/mole, m=7?

_MPV _ 44x1x2.24

PV=-0RT =>m= =4,397gm =4.4 gm

M RT  0.0821x273
41. Rb3 WD SATGHEDS?
(a) Ti (b) V (c) Ni (d) Zn

FYE: (d) ; Zn Y O SFFELT GNE 77 |
42, FIREN 6,6-9F NAMNIET IIET TR -

(a) 125 (b) 1815 (c) 6T (d) 1076
T (a) ; HOOC—(CH2)4 ~COOH +H2N-—(CH2)6—NH2
HOOC—(CH2)4 *C‘JJ’NH—(Cﬂz)G —NH; w3 -6, 6. (3eiae)
d; siferraat
-[0C-(CH, ), ~CONH~(CH, ),-NH ]+
AZAT — 6, 6. (+ifeTT)
AN 120 Coieg |
43. TR ERICS IRER A Fo7 [Ans: a]
(a) (2-4.5)% (b) (1-1.5)% (c) 0.5% (d) 0.2%
44. wpEerRe AEERe LiAH , a@t Refee 2w feg @ Gt o
(a) ST (b) i (C) Ul (d) ©oEe
Tre: (b) ; R—-CNUT“E?R-CHE—NHZW
45. <= SIANEE @1 GIEt R-2aums? [Ans: c]
(a) @ (B) (b) T (C) (c) @IfET (Fy) (d) T (Ne)
46. @b qEEFS ANEZEE Fame w2
(a) 25RT (b) Srerat (c) Tt (d) st
AT (a) ; SRS | TS AMIREE TAF 2SRCFA o7 @3 |
47. @G i FIET-FIEH 5 O - [Ans: d]
(a) 1.54A (b) 1.34A (c) 1.20A (d)1.39A
48. @ @ wigfe fmer? [Ans: c]
(a) FACZGE (b) GRigF< (c) sl (d) T
49, g A 7 HNO, -7 ffewanr o e Sevigy 2372
(a) NH4NO; (b) NO (c) N,0 (d) No,

FarE: (¢) ; HNO, (*1i7) — NO, ; HNO, (5% =%) — NO HNO, #g) —» N,0

HNO, (wfeerg) — NH,NO,
50. G IHAD 5T Fre Afare B gaee g7 [Ans: d]
(a) TG 59 (b) W I (c) feicars (d) RZTGTET I

VEEER | -




51.

52.

33.

54,

53.

56.

57.

58.

59.

60.

61.

ECR

TIE: (C) 5 2CuSO, +4KI — Cu,l, + 2K,S0, +1,
“.1mole],teRite KIeesi=4(39.1+126.9)g = 664gm

RAAGIE @ Teafbe Rfdmae w- [Ans: c]
(a) T Rferm (b) =bt=miw e (¢) % Rfemm (d) SrEfree=+ i

ST e Re? [Ans: a]
(a) ZnS (b) ZnO (c) ZaCO, (d) ZnOFe,0,

iR et & o

(a) B3 (b) 351Ef (c) e (@) TrRfREtRe

St4iE: (¢), 3HC = CH 4:;5“2:2

(I AT S =0 WiTwas Weme I9ze 27 [Ans: b]

(a) SIS Z0A (b) e ST (c) Gt s (d) Garat fedw
NG IFOF IS ZITT 70°C S Cl, Sl T 063 @G “inawit Tt

(a) NaOC] (b) NaClO, (c) NaClO, (d) NaClO ,

si4E: (c) ; NaOH +Cl, 70°C , NaClO , +NaCl +H,0

B0 YEARred LTS I0E— [Ans: a]
(a) WX (b) WHe (c) HgHe,, (d) PdHe

G @RGSRz 8 Wt SU ATy T2 [Ans: c]
(a) "1 H,SO, (b) (@ (BB ()T e (d) b e

SN 25° C TR 35°C @ e Fae (1 30 fomad I #4171 Ricrmibe s =fes i @mo? [Ans: Blank]
(a) 868.3KJ (b) 83.86KJ (c) 86.83KI (d) 0.8386KJ

g 99 T, =298 Kwem, K, =K
T2, T, =308 K4, K, = K(1+3) =4K [y 3w 3@ AT 3 o T
E =7 R=8.314)/molec k

a

i
k, |_E |1 1 1 ﬁ]: E, [ . ] =E. =105.812KJ/mole
NUW’IH(EJ_R T | ﬂ[k 8.314[ 298 308 ;
g GBI option it a1 | i k, = 3k 4f¥ ©rzwer sy wiet B, =83.86 KJ/moledt (b)as siicd feet

A G TYCRT V04T (FIA0 FaAMET? [Ans: c]
(a) 10%CH;COOH (b) 20% CH;0H (c) 40%H-CHO (d) 12%C,H,OH

a,b,cABI NN a2 a > b | c @AW FO AT ac » bc 23?2
(ﬂ)ﬂ=b (b)c‘;'ﬂ (C)C{U (d)ﬂ=ﬂ=b
sty (b) ; a>be ¢> 0= ac > becyA




| &
62. mmgewwﬁaaﬁewammwﬁﬂmmﬂnﬁﬁﬂwwmwﬁmmmwﬁw%?
(a) 1440 (b)2880 (c) 720 (d) 120
styE: (b) ; Courage *fote 731 4 (a, e, 0, 11]4'6911715 15 7= 3=t 9 4C, ST QR Sitws &2 FIH
T 1] S @3 w@fE (7-1)3 6 g o sremt g 6! sew
- s T = 4C, X 11 X 6! = 2880
13

63. Sﬂﬂe—l—iw cot0 99 JiFq 97 - [Ans; b]
12 13 25
OF OF= ©2 @2
13 169 169 14 144 12
b = tan‘f=—= =—— . .cotB=
ANY: secd = — => sec” 6 a2 =1t tan®’ 0 = 44—"- an Cco T co
64. Emﬂrﬁ“—
(a) eI A (b) W AT (c) S Rt (d) &ioe A
FagE: (b) ; %=Emwﬁ:wmﬁm
65. r=asin® CAFT ANFACIT FCSAIT ANIFAT TO7?
(a) ax’+y*—-y=0 (b) x* +y* +ay=0 (c) x*+y*-ay=0 (d) x* +ay*-y=0

T: () ; r—asin® =1 =arsin® = x* +y* =ay[r> =x*> +y’ 8 y=rsin0] =X’ +y —ay =0
66. cosecx =29 cotx = —/3 T @G FOI?

1 V3 J3 J3
Y —— -—— t = —— d) cosx=——
(a) sinx - (b) secx s (c) tanx : (d) >
Jargie: (c+d); coecx =2
cotx =—/3 = 22 —_f3 = cosx coecx=—+/3 = cosx __¥3
sinx 2
sinx 1 1 1 J3
‘ﬂ!ﬂ‘l’ﬁ t — = = _——— e —
WX T 08X COSX COSECX —f J3 3
2
So, (c), (d) both are Ans.
10
67. (xz—%] a7 BT x IS oMt F©2
X
16 81 BSDS
(a) o (b) — (c) 210 (d)

: (d) ; 4, (r+ 1o om x3®eS T, =1C, () g)l? (fé’; ="C, x™¥ (1) 3) ()

Now,20—-5r=0 =>r=4 .. X3S *m mC (—1) (3)* (2)"‘ 8505

68. k@I TF IO I 2x - y+7 =093 3x + ky — 5= 0TI Gi6 277 &7 2(Q?
(a) 6 (b) 8 (c) 10 (d)12

o | ¢




T (@) s 2X—y+7=0=y=2x+7....(1) .. (1) 935 =2 [ y = mX + ¢ 99 A T+ 3]

3x+ky—-5=0 :>y=[—-E)x+-15E .......... (i1) .'.(ii)tﬂ?['ﬁlﬁz—%
3 -6
Y S T, (2)(_EJ=_] =——=-1 =k=6
69. cosecO 9z ofav 2 [Ans: ¢]
(a) cosec© (b) secant © (c) cosecant © (d) coversed cosec ©
70. &I AFTS MR (0,2) R y SHCFH FASAT @R A (2,5) 7 fiewr o w7, o7 A= M-
(a) 4x* =3(y-2) (b) 3x* =12(y-2) (c) 3x* =4(y-2) (d) 2x2 =3(y-2)
HIYI:(c) ; FENTS, AT (x —0)° =4a(y—2)
(2,5) R - (2—0) =4a(5—2) = 4a =§

iR AN x° =%(y—2) =3x* =4(y-2)

71. O AR 200 ft/sec. QU SIS SEE ALY 30° @0 &ifFFe Tl 8 F© SHo $oa?
1 1 ] 1
256—ft —ft 156—ft d) 56—ft
(a) 2 (b) 3564f (c) 4 (d) 4
u’sin’6  (200)® x(sin30°)?
2¢ 2%32
72. @< UM Sgeaiee @ 9% 799 (400,800) e =g @ a3 R g {uEn (400,0) fmaTs

IZ I, I [ 6 212
(a)RRE I OkEESE! (C)TA8 TEA @ (d) TR It

1Y

s (¢); H = -—-156%&

(400,800)

A4E: (a) ; s sfsee g (4000)

0(0,0)

73. 25%x*+16y°=400 Tgata oy e o 97
7 32 5 30
(2) 30 (B)~% © 3 ) 3

2 2

srtet: (b) 3 25%% +16y? =400 :>:2+§z=1 a=4 b=5;b>a
2 2
.'.%ﬂﬁ@ﬂfwtﬁﬁf:%— =2x54 =%

74. 3B J0a7 AT AN x-SCF TS WA AT [Ans: c]
(a) 24/g*+c (b) 2+/f*+c (c) 24/g°—¢ (d) 2{/f*—c

75. @ e feratae p @92 2p MR IR0 =1 A0 p @F AR o 1 T 0 ITa0d TG P T
TG?
(a) 135° (b) 60° (c) 45° (d) 120°

1 |
TYE: (d) ; P 99— st P+ 2p cosou =10 = cosa=—7 =oa=120° # \I

unit




TR | ¢ | ST

76. ﬁmﬁiﬁwﬁmwmm a ﬁtfmmwmm—

(a) 1 (b) 2 (c) 0 (d) FBIR A
TR (c) ; i of s & i 3 3= WSy 20 o 7 77 79 |
77. [ & OQF TIF 5?7

0c* +e™

(a) trm“ﬂ—iE (b) 1un"+% (c) %—tsm'I c (d) §+tan” e

A (@) 1=j; x‘i“_x =_[': dxl yfF, e* =t..e*dx =dt

©Te ﬂ“‘l'e—,,; T, X = U_ﬂm t=1 T4, x =199, t=¢

1 e*dx = [tan" t] —tanle— =

= — 12 +1 4
0(e™)” +1

78. EINE ARET 12 &F IF WL SIHT W4T Smw@mﬁsﬁwm 7 IHCE NG IS AR I

WG 5 O WY AFE?
(a) 333 (b) 334 (c) 335 (d) 336

S (d) ; LT 8 T 8 AR T 4 &
S 7 S R WO 5 T S, e w9 ww= A, <'C, =336

79. SEIE 5310 oo ASE TR U0 ?
1 2 3 4
(@) 7 (b) = © (d)
FYE: (b); 9% I 52 b i AUTF T 52 & oo w2 1 | S=[hNE B =366—-52x7 =2
" 53 @l 3re =A@ 2 Mg s waraie 3o 3@ | 93 7 5 9mRT T v

.'.53%@@1@%:%
80.* T 720 101101 @F JCH @I Pox T TR @ T @APIT 16 99T ForST 21?
(a) 0.11 (b) 11 (c) 11.1 (d) 11.01

FAE: (b) ; (10110D), =1x2° +0x2* +1x2% +1x22 +0x2' +1x2° =45
=2 = 2.81254% 16x3=48 . Wl it T T 48-45=(3),, =(11),
8l. y’ =4x R y=xT4 T TFET CFATT—
(a) %sq. units (b) Esq. units (c) 3 sq. units (d) 8 sq, units

Tar4: (b) ;) v =X (); ¥° =4x.....(i1)) = (x)* =4x [()Zo]
=x’—4x=0=>x(x-4)=0 ..x=0,4 ny=0,4 [(1)ZTe]

Area =E (V4x —x)dx = J: (2&—}{){1)(

- 14

3
X X £4
3 N E
2

-0 —%[42 —0] =§sq. unit




82. LM (14 x)s@w T~

(a) ] (b) -1 (c) 0 (d) e
1

= lifl-l-[La Hospital] =1 ..y=¢' =e.

In(] + x)

1
sy (d) y=lin['ln(l+x)§ : Iny=Ilim

x—0

83.* 3 s 2 e SR W Wl &7 Affa Tl M SR IR | 5 OIS *Ita ©iaa (@7 F© R?

(a) 21.6m/s (b) 19.6m/s (c) 9.8m/s (d) 4.9m/s
FNHE: (¢) ;5 ST $9, f=3-2x9.8 =-EE’-'E1'nfS1
342 5

S.5s i @@, v=0+f.5=¥x5=9.8m/5

84. y=~':—ww @ e x=%& e wfEe ~=pftea o 972

(a) -16 (b) 16 (c) -18 (d) 18
_ 2 dy 2 1 =2
I (C) ; y= Brmas— aw,x=§ﬁ={c—ww%—mwﬁ-fcwmﬁr- - =—18
X X

Y
) | -
"h"l-l——-l"'IJII

85. sin~18° +sin” 36° +sin” 54° +sin® 72° = ¥9?
(a) =2 (b) 2 (c) 0 (d) 2

FryE: (d) ; sin®18° +-sin® 36° +sin® 54° +sin® 72°
=sin’ 18° +sin” 36° +[sin(90° —36°)]’ +[sin(90° —18°) =sin?18° +sin? 36° +cos’ 36° +cos’ 18°
=(sin’18° +cos?18°) + (sin’ 36° +cos* 36°) =1+1=2

Shortcut: Use calculator.
86. f(x)=x+sinxTF X 9T FF =T & {'(x) =0 I?

@ (b) = OF @2
TmgE: (b) ; f(x)=x+sinx =>f'(x)=1+cosx, f'(x)=0% 1+cosx =0

—>COSX=—]1=COSTT = X=T

87. farzrfafers e AAffmiee o JIR© A& o— [Ans: d]
(a) TOTTE (b) *ro¥ET (c) 3o (d) e
88. T 64 5.1 @l vo7@ oo GeF @d TRCW 1.5 R A 0 | @< QAT <9 QAfes Sfew® uag
FO JA?
(2) 800m (b) 600m (c) 400m (d) 200m
64x10°

Y (a) ; u=64km/h = /s =17.78m/s
@); v 3600

v=0m/s, t=1.5min =1.5x60sec

[u+v]t _17.78+0

S= x1.5%x60=800.1m
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89. S={x:5x>—16x +3 < 0} 97 Iz« A R TGO SN L2
!
o) o) o) el

, 1 1
sigE: (b) 0 s={x:5x° —16x+3 <0} ={x:(x-3)(x—-§)<0}={x:x-<3‘ﬂwﬂg}

%. [ c0s 49=1» [Ans: Blank]
0 cos 0
(@)1-3 OF (c) 5! (d) 5 -2

g ““ie do =[*—_do = [#secd dO =[¢nltan 0+secH]]]
0 cos O 0 cosO 0

-—L’n‘tan0+se:c0‘ = E’nll+ﬁ‘ —-f{nl = £"n|1+1.5‘ -0

O01. The meaning of ‘Omnipotent’ 15—

(a) Feeble (b) Supreme (c) Inferior (d) Vulnerable
to the masses to generate interest from a publisher.
(d) enough appeal [Ans: b]

T T
= (n|tan — +sec—
4 4

[Ans: bj

92. The professor has not written a book .........
(a) enough appealing (b)appealing enough (c)appeal enough

93. Which of the following is the correct spelling? [Ans: a]
(a) dysentery (b) dysentry (c) disentry (d) dycentry

94. The synonym of “Burglary” 15— |Ans: d]
(a) begging (b) teaching (c) floating (d) stealing

95. A person who writes about his own life writes— [Ans: d]
(a) a diary (b) a biography (c) a chronicle (d) an autobiography

96. ‘To end in smoke’ means— [Ans: c]
(a) To create fire (b) To go through suffering
(c) To come to nothing (d) To see fire

97. The old man and the sea, a novel, is one of Emest Hemingway’s .......... books. [Ans: a]
(a) most famous (b) the most famous (c) are most famous  (d)and most famous

08. Andy talked as if he............. a scientist. [Ans: b]
(a) were (b) had been (c) was (d)could

09. The plural form of “Memorandum” is— [Ans: d]
(a) Memorandas (b) Memorandras (c) Memoran (d) Memoranda |

100. Our company has just acquired two new tractors. (What does the underlined word mean?)
(a) bought (b) purchased (c) stolen (d) dishonest [Ans: b]

f




